3 PIECE ROD END BEARINGS (SELF-LUBRICATING] ‘"'.Minet

SELF-
ROD END FEMALE | | aicaring | 3 PIECE

J Materials
HRT HRT-CR

BODY Chromium-Molybdenum Steel SUSB30 Stainless Steel
Zinc Plated Passivated

RACE 410 Stainless Steel / Heat Treated 410 Stainless Steel / Heat Treated
BALL 440C Stainless Steel / Heat Treated 440C Stainless Steel / Heat Treated
LINER Teflon / Fabric Teflon / Fabric

I Description of Types

HRTD L xx CR T
T T T

No Letter Indicates Standard Breakaway Torque
Letter “T” Indicates Low Breakaway Torque

No Letter Indicates Chromium-Molybdenum Steel
Letter “CR” Indicates SUS630 for Body

Bearing Bore Code

No Letter Indicates Right Hand Thread
Letter “L” Indicates Left Hand Thread

> For X-1276 LINER add suffix “D”
> Basic Part No.

Dimensions in mm

No Load L i

MN W H oN| 0P| C Rotational Stat‘gala'mlt S:gcliil Fatigue A

EBEA | ¢8| 6D | o F TH L S | @ |$dO|S¢DB| Breakaway Ukimate | Load | PProx.
Part + + | + [+02 T . kN(3) Weight
o HT|208| — | )75 [£05|JsCass2|207| gy | G |- |+ 025|(deg)| Ref. | Ref. | Toraue N -m L(c>3a)d S\l) .

013 | Sl R | Axial
Standard Radial @) KN

HRT3 |3 | 160 70 | 525 [300 [M3x0§| |70[ 9 | . | & | 18 [62] 873 1470 | 196 | 3089 | 514 | 29
HRT4 | 4 | 180| 95 | 7.75 | 320 | M x 0.7 85| 11 | > [ 10 | 16 | 58| 11.11| 006~068 | 31.38 | 353 | 4334 | 7.15 | 35
HRT5 | 5 | 205 350 | M5 X 08 06 ~ 6:9kgf - cm}
e e tooet 110 | 875 FavpThescro] 19 [108] 15 | 45 | 12 | 15 | 78| 1349 2794 | 500 | 3491 | 578 | 40
HRT8 | 8 | 230 825 | 410 [MB X 125| 22 | 125 17 14 | 14 |109] 1548 3402 | 529 | 4246 | 706 | 51
HRT10 |10 260 | 126 | 1075 | 460 [M10x 15| 24 |[140] 19 | . [ 15 | 8 [122] 1746 3765 | 676 | 4707 | 784 | 73
HRT12 | 15| 340 | 160 | 1325|570 MESX 2 |85, 2 | 10 |154[2222 7806 | 833 | 9757 | 16.18 | 150
HRT14 [14]360 [ 170 | [600] "~ " 1733 180 75 8 [189] 2540 {102'127115& 8296 | 902 | 10365 | 17.25 | 165
HRT15 | 156|380 | 180 | [ 620 "4 200 25 [85 | 21 | 11 [0[89 "7 Y 9" 9632 | 931 | 119.15 | 1980 | 189
HRT16 [16]390 180 | | 635 [M16x 20| 35 [220[ 27 | . | 23 | 10 |192]26%9 10071 | 970 | 12581 | 2098 | 218
HRT17 [ 17 [410] 7| > [680 [Mi6x 15[ 37 [230] 28 | > [(24 | 12 [ [ 10140 | 1029 | 12670 | 21.08 | 241
HRT18 [18[430| © [ 1740 [M18x 15| 40 [240] [ [ 26 [ 10 | |™ 12062 | 1216 | 150.72 | 25.10 | 283
HRT20 [20[ 450 . °| > [ 760 [M20 X 15] 41 |250 1726 | 13 [229]3175 12130 | 1284 | 15161 | 25.20 | 330
HRT22 |22 |520| “°° [1930| 850 [M22 x 15| 47 | 280 36 | 120| 30 | 6 |27.1|3492 16621 | 15.10 | 195.25 | 3255 | 580
HRT25 (25700 | . [1060|M24 x 20| 64 [420[ 60 140 43 | 15 |323] 4762 {2%23 1”81452 30243 | 2088 | 37804 | 6305 | 1230
HRT28 [28[750| | ™ [1100|M27 x 20| 8 [440| 66 | 150| 47 |  ~[368[5080| < 9" 728370 | 2324 | 35460 | 59.13 | 1620
HRT30 | 30| 780 | 37.0 | 2630 | 1200M30 x 20| 62 |480| 60 | 160 | 51 4045477 27193 | 2481 | 33989 | 5668 | 1930
I Notes

1. Teflon liner permanently bonded to race I.D.

(2) Axial load indicates either the smaller value of static load or proof
load.

(3) Select Type "CR" for higher load capabilty.
Made to order only.

No Load Rotational Breakaway Torque.
Low Torgue Al Size: 0.02N - m MAX
(Radial Clearance 0.05mm MAX)

O Please consutt MINEBEA for availabiiity of bearings in this series.

[SEE

Bore size ~3 ~6 ~ 10 ~ 18 ~ 30
H7 Tolerance + 10 + 12 + 15 + 18 + 21
(wm) 0 0 0 0 0

Copyright 2006, Minebea Co., Ltd. Page 45





